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SN BA(SA) - MRAY - BES 0l &t o il HImEET
A2 &8t 274,000 566,000 292,000
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HIOISXMelAlE X & 2L (HIISHMeAESESH) 274,000 566,000 A 292,000
HIIS2XM2AE 84X & 29 274,000 566,000 A 292,000
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nESA N 2,239,400 8,689, 144 NG6,449,744
NE 4 N (+=sLDE/HESNE - = FSIIE) 2,239,400 7,701,798 N5,462,398
NEANYE 22 (EADSAIEESAH) 1,581,080 2,884,338 A 1,303,258
WSOHH AAE g2 1,581,080 2,147,930 A\ 566,850
201 2Et2Hy| 64,700 108, 800 AN44.100
01 AP 2t 2] H| 42,860 86,960 AN44.100
WDEASEIL FAE HALY
200,000 »8H x43| 6,400
MRSUHFAL HA 4
8,000 x3H x153| x12& 4,320
WO DECETY HIAAN 222
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